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104 ROINO. 2 ceeererenaereronennens
2018
APPLIED MATHEMATICS
fruiia aug : fim =) | [3Aftrpaw 37 : 70
Time allowed : Three Hours| |[Maximum Marks : 70
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Note : Question No. I is compulsory, answer any FIVE questions from the remaining.

(i) HeF & T} W ) HHAR O GT & Fierd |

Solve all parts of a question consecutively together.

(iii) 5% FoF %1 73 Y8 G IRE] Ffrd |

Start each question on fresh page.
(iv) @ TIs 3 81 #1 R § S rgare B A 8

Only English version is valid in case of difference in both the languages.

L () FaL2+y+ 120 =0% %z 3 Brem wma Hif |
Find the centre and radius of the circle x* + y2+ 12x=0.
. dy .
(if) e T = e ¥ &l T ShINH |

- . d s
Solve the differential equation E).X =e' Y,

(i) TR G | 1 A9 T R I B |
Find the modulus and argument of the complex number i.

(iv) e %" &7 gumEher Ta Hifer |

Find the integral of g 08 ¥,
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e 3 =2i-j+kwmafRu b =i - 2j + k Wy 7@ FIRE |

. . . P 4 4 % 4 4 "
Find the projection of vector @ = 2i —j + k on vector b =i -2j +k.

3G A H1 G T IR 0 e frg @ TR qun Jndl % 4T W @ A 3
T 4 % TR AT: WUE FLE |

2)

Find the equation of the circle which passes through the origin and cuts-off

intercepts 3 and 4 from the positive parts of the axes respectively.

firg IR : cos 10° cos 30° cos 50° cos 70° = 13_6

3
Prove that : cos 10° cos 30° cos 50° cos 70° = E'

wieeim &fea &1 yam = e gt fem =) g0 fifA -

Solve the following system of equations using inverse matrix :
xty+z=2'x+2y+3z=5x+3y+z=0

a T b & M T hited A 7 B v = | REAq 8 |

Find the value of a and b if the following function is continuous at x = |

2x+a , x>1
fo)=y b, x=1

Sx=-2 , x<1

forg Fif

Prove that :

l+a 1 1
1 1+b 1 =abc[]+l+l+l)
a b ¢

1 1 l1+c
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(3 of 4)
(i) 38 BT T F1 wefte T R S g (1, -2) B ot @ wE e @ T - 4y +
2=0% FAR L |

Find the equation of a line passing through (1, -2) and parallel to the line
Ix-4y+2=0. (6)

I ] d
() FM+y=t-ym Lyt A RRRAR T +y=0.

. 1 5 d
fx2+yl=t- T and Mryt=¢ 13 then prove that ‘ay_ +y=0 (6)

(i) 6 " v T =fr 20 Hiw I yww EA @ 3.5 /AP N RA N @
2 | 3wk B | iEds Y o 3ra Hif

A man 6 m height moves directly away from a lamp post 20 m high at the rate of

3.5 m/sec. How fast does the length of his shadow change ? (6)
o1 guTeRe g1 hifsra -
Solve the following integrals :
(1) J- sin~lx dx (6)
(ii) f sin’x cos?x dx _ (6)
T araeper wiftew g1 IR -
Solve the following differential equations :

. d ' b ]

(1) a_%+§=)f' . 6)
(i) (D?-3D+2)y=e% (6)
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ﬂﬂmﬁﬁﬁ:

Find the value : (6)

A%Fﬂm%iﬁwﬁsﬁ’:z’i_j‘+i2,l3’='i+zj—312wa‘=3’{+1}‘+5i<
quaeid g ?

Fa I

For what value of A, vector @ = 2i —j + k, b =1 + 2j — 3k and @ = 31 + Aj + 5k

are coplanar ? (6)
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